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VODA-ACETON-TOLUEN (20C)

0.11
0.1 F
0.09 |
[ 4
E. ‘V‘
7
0.08 v
. N 4'
7
9
4
P "
0.07 %
r i .:;/
A =
0.06 — :
' Gty 55 <RERRENCARREEEREN RRANESANGN BESR
{i-4. (‘l i i .
/
0.05 & ALAT 7
\'i\ VTSRS /‘
¢ &/
4
k. /
L /
F P4
0.04 [ va
7
I’
0.03 g
4
002 bk A
F A 5 :
A b
.4
0.01 i - = - = =
i =1 fity ST )
Xil ' i | LY, g
WaE L ] L 18} S
[ B g =
it
; B VESH Y )
: L ALY H : ;
0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 I 0.09 0.1
kg-aceton/kg-voda



kg-aceton/kg-toluen

i}
Mg

E;}\\ _}\)‘d\‘\g

0.11

0.1

0.09 F

0.08

5 /1
e\ wod

Sutovi Uy

VODA-ACETON-TOLUEN (20C)
>
b 7
4
7
Y
4
"f
‘,/..
p 4
Vi
L $”
»
- ¥
[ /
Vi
..
54
4
p 4
/
/
7
4
l'
4
I’
[
[ -
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1
kg-aceton/kg-voda . j
W N No



